2022 (A)

BBLOGY GROUP-I

TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 48 \ VLV -
NOTE: ertt-T qa‘m{a‘ quaumn number .q.bﬂgﬁq.{.éir.ﬁ’é z,»,{-ym/dlru,&n}w -

é{llﬁ its part number on answer book, as given in the question paper.
SECTION-| LJJL"

2. Attempt any five parts. 10=2x5 el 8 240
(i) Whatis meant by gaseous exchange? ?.;:l/gfc_..bl;giur:r (i
(i) Describe the function of nasal cavity. -qfug.ﬁ(&{dﬁ (ii)
(iiy  What is meant by double pneumonia? el e bl (i)
(ivy  What is meant by Thermoregulation? ?g_;l/yf;,ﬂ;{m} (iv)
(v)  Describe the causes of kidney stones. _L,{fui_f._-,g.ﬁnj/d/;;cfg.;/‘ (v)
(Vi)  What are co-ordinators? i GASLY (i)
(viy  What is meant by nodes of ranvier? ‘.‘ugié_ng{/._ﬁih" (vii)
(vii) Describe the functions of spinal cord. LANSSE LS i)
3. Attempt any five parts. 10=2x5 -é}/ﬁa{b’é/ﬂégmfgﬁ 3/Jlr
(i)  Define Osteocytes. - 0\ A \{‘\‘\r \l /// 0., r;%/tffwﬂl (i
(i) Define Joint. Write names of its major type&é"\ fr,?;“i\\ {/ p\) ‘\u\‘ \\ \ ;?L,Q(MJ/JJ u,lc‘f...v/’if..z!i (i)
(i) Define binary fission and g(}\gheexam’ple\ 44 \“\ AN~ “EefagE s LA i
(iv)  Define cloning. s L\ \\5\ l", ‘\, VWD EWALEE (v
(v) Deflne Tﬁ\ %é@f&}v&emzygous genotype. _gf:’...yf"&.j L‘i:"-’.f-cfl.::;_z ul- J—C’Uf'n (v)
(vi) Defm% crlptmn -gf_y/’Jﬁ);’I) (vi)
(vii)  Write down the names of nitrogenous bases of DNA. -.:_”?‘bl.y:{;’-;j-’tiz_.rujfd} (vii)
(viii)  Define Mendel's Law of Segregation, -gﬁ:_gﬁJuf-“ngﬁuﬁdkf (viii)
4. Attempt any five parts. 10=2x5 -Eofer Lt &S 4t
()  Define ecosystem. “EokEE )
(i) What is meant by pyramid of numbers? Sl AT ()
(i)  What is meant by assimilation in nitrogen cycle? el e FAEIES R i
(iv)  Why should we reduce the use of natural resources? ?ﬁ.gtfuﬁUb-"H?dewu-‘ (iv)
(v)  Write uses of glycerol. WY S 2r /B’ v)
(vi)  Write definition of fermentation with reference to biotechnology. 4‘1{.de u’"}chf‘CJ Jel7| (vi)
(vii)  What is meant by medicinal drug? ‘-‘.‘;_:l/t_fc_luu* (vii)
(viii)  What are broad spectrum and narrow spectrum antibiotics? 1% 1 ‘-'u‘?l_rru‘(’:_f@{?'iﬁuﬁu'ﬂ@ (viii)

NOTE: Attempt any two questions. uUlrna_(jf -

Y
5.(A) Describe the osmoregulatory funcuon ofludr’]e' Wy : ‘I"‘ -éubd"dﬁyfzﬁ koS (5
(B) Whatis Cartilage? Descnﬁe fts thre.fé types . B\BY P Lok UL e Ble (L)
6.(A) Write a complete net? on forebr‘am\.- W 5 -u“”un}“; (forebrain) u/u’ (.6
(B) Writesa PNﬂﬁiéqéAote on buddmg 4 u"'q..:ui..ﬁ» (=)
7.(A) Descnbe the objectives of genetic engineering. 5 -u/uluwtvé\.ffiﬂ (IN_7

(B) Describe drug addiction and its associated problems in detail. 4 -/ ke S flsie Jilesbfals
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PAPER CODE 2022 (A)
’ RT-Il (10th C P
NUMBER: 3461 SSC PA “f" LASQ

BIOLOGY  GROUP- | v’f GAEY
TIME ALLOWED: 15 Mlnutes‘ | / ‘ ;'-\OQSJECTi‘VE U'T»/’,.ﬂ e 15 = &y
MAXIMUM MARKS: {2 g\“ 12= A

L, L)" /u,.L»duvL...Lr...m;_u: u:/b&:d_lrﬁdlr/{(éb’dli -GLEID #CBANLLLry S

EIS Y| -f;kg:d/&f‘ﬁuwgfq fu:.fb _fmﬂm..,wu,ﬁw...m&.ﬁ L L /_./Ju:zlmULJ il
Note: you have four choices for each objective type question as A, B, C and D. The choice - /QJ'/;;@UV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) In aerobic respiration ______is used. e Gt e (1)
(A) Nitrogen ¢/t (B) Oxygen u’-'_'fl' (C) Hydrogen (/s.4¢y (D) Carbon ¢//¥

(2) Which organ is protected by last two ribs in man? s Al UM TS (@)
(A) Stomach s (B) Heart s (C) Liver % (D) Kidney 0./

(3) Which separates middle ear from the inner ear? "c.d/,of“ufa.ub’)}m‘(f“@‘d\liw (3)
(A) Oval window (§ 4+ B) Malleus w" © |ncu5@c§ X \' K/@)‘ Stapes 73 Pt

(4) Babies are born with about — soft bOnes\ x\ 7 /;4\ ( ~> \\ \_pft@ﬂuL*fﬁ/ ] | lcfvu”uuu‘e_rugi__,a (4)
(A) 300 Q ) 3:1\5 \ \\\ JAN 520 (D) 330

(5) Yeast reproduces asexmﬂl{ BiS I"“” - _:.g)%q_Snﬂ:{le}g’uui%ﬁ (5)

gup\i,r’ \en‘ b"d/l. (B) Fragmentation ;éuiils s (C) Budding €% (D) Spore formation thus-

(8) Inside testes, where sperms are produced? ‘-‘uj&ubj},{zﬂé ,2'5 (6)
(A) Vas deferens (250 (B) Sperm duct 2 5r
(C) Callecting ducts U~ A (D) Seminiferous tubules Ass U kU~

(7) When James Watson and Francis Crick proposed s Bk DNA LS 2 @)

the structure of DNA model?

(A) U~ +1950 AD (B) #1953 AD (C) o« +1956 AD (D) U~ #1959 AD
(8) In artificial selection, the bred animals are known as: B W% S B P s e (8)
(A) Breeds Ji (B) Vector /'ur: (C) Cultivars J‘J’}l}{ (D) Herbivores J.u:d/;

(9) Which one of the following is the abiotic component of the ecosystem? ?c‘,vuﬂzbfngiK(”/:fiauijb» (9)

(A) Producers o4y (B) Herbivores )md_/; (C) Water dL (D) Carnivores J/JJLSJ
(10) Which one of the following plant is parasite? A %—‘f‘(('/"ﬂ‘h()’r ‘L}:«)')Oﬂ (10)
(A) Pitcher plant uf'ufa (B) Sunde 43 u‘ CJ \(énu,s flyﬁap Wwﬁ\ D) Cus;cuta L‘rg
- ‘/ -‘—‘. \ /

Sl B el o (1)

(11) When was the complete map othuman genome pdbll

I ‘ "2002 AE (C) o~ +2004 AD (D) o= #2006 AD
(12) Which one oftqe\,lcmﬁ}‘fir‘lﬁ is not anladdmtwe drig? ?léﬂw’wvguufgwdjaﬂ :
A :
Se)d weé ke (B) Morphine /44 (C) Codeine ¢/ - G:K{M;{
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PAPER CODE 2022 (A) 7// pan
NUMBER: 3463 SSC PART-I (10th CLASS) ‘/T\ rﬁ

OLOGY GROUP-I

= "/

TIME ALLOWED: 15 Mmuteér) \ \\ AN\ 215 = =B
\ HH
W ;
MAXIMUM MARK 8\11 NJ o\ Bl 12= AF

Ao I\SLW dwﬁ.,l;./m,ﬁ Ui s vl g 6012 < 1L 20 D o C B A ezl L -2
EIN Y| _(glgpu:*ﬁdlut.:m&_ﬁ4 :‘(/Jub -{mﬂw.,muﬁ‘ﬁ@mfg& Sk LS e gl 25
Note: you have four choices for each objective type question as A, B, C and D. The choice -J_/:'IJ'?Z;UV
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 A

(1) Babies are born with about soft bones. ARV S WV Y, 0 2 oY 1)
(A) 300 (B) 310 (C) 320 (D) 330

{2) Yeast reproduces asexually by: ,:,p)gg@ﬁ-‘h{ddﬁ’;luf.pﬁ: (2)

(A) Binary fission o*1$L  (B) Fragmentation auiids s (C) Budding % (D) Spore formation b

(3) Inside testes, where sperms are produced? édlﬂ// 35’ (3)
Sus K‘ O \) \l
(A) Vas deferens (/25 1s (B) Sperm duct -‘ﬁj’/;\ C\Am\\f
(C) Collecting ducts ~3 ¥ FF;W \@ogs\t Uu ,,

(4) When James Watson and Frangis, Qu p?\Q \ /A\*ﬁ[}*./wwum DNA LU s 2 (4

the structure of DNA moJ\T V\‘ \ \/\ ¥ y
t"w‘\ \
"o RN

v~ »1953 AD (C) U~ 1956 AD (D) (X~ #1959 AD

(5) In artificial selection, the bred animals are known as: _VELL":'(Z_Lgéb/(-fé/.d/cﬂuj%m’—;-lz_,’“ug&?y (5)
(A) Breeds i« (B) Vector A (C) Cultivars J‘/!:u‘f (D) Herbivores il z

(8) Which one of the following is the abiotic component of the ecosystem? “.f_wvlfihfrtz_lb,‘"flc_v.p E109) (6)
(A) Producers J4/5s, " (B) Herbivores sl (C) Water dL (D) Carnivores m(6

(7) Which one of the following plant is parasite? ?f_.%Viﬁi;gvufa.quj:iiy/) (7)
(A) Pitcher plant ..-:‘4_,,5— (B) Sundew i (C) Venus flytrap _rz_/‘u{u?;f&,- (D) Cuscuta L‘gcf

(8) When was the complete map of human genome published? ?IﬁéﬁJﬁU;b?Hﬁuuﬁ (8)
(A) U~ #2000 AD (B) U= 2002 AD (C) =~ 2004 AD (D) % £2006 AD

(9) Which one of the following is not an addictive drug? \.‘_ag:f’l.w,v’.b‘.,gw:zu:gzsw (9)
(A) Sedatives i~ (B) Morphine L-j:iﬂ. (C) Codeine u_':':’( (D) Tetracycling L-,L‘h/{fvl)'f

(10) In aerobic respiration ______is used. -L’j‘fdb“;ﬁ—) : ‘ (10)
(A) Nitrogen ¢4t (B) Oxygen & \fﬂC)ﬂHY,dﬂwbﬂ" N * fﬂ}) Q%ﬁb@?d’g

111} Which organ is protected by last two ribs in fnén'? Q\ :/.,:w. \ ‘l / \ )\ \5) "E _J’b?df'u‘u WA T ulin (1)
{A) Stomach sa T\ \Tﬁ)\Hga‘rf‘\J‘;\/ .\“ - '(C‘ I:iv;r' Jg (D) Kidney u/

(12) Which separates decTiqﬁarfrom {'@r;nér ear’f’ ?? J/"a.«‘.’.‘u/cdfﬁ:zilfu{ (_',lul.m (12)
(A) Q;T\M\kébw s (B) Malleus S (C) Incus J;f (D) Stapes J:)’

B{Obj)( TX VX )-2022(A)-40000  (MULTAN)



.|PAPER CODE 2022 (A)
SSC PART-ll (10th CLASS)

NUMBER: 3465
OLOGY GROUP-I

TIME ALLOWED: 15 Minutéé

MAXIMUM MA{(KSI ‘m] JARIEL 12= JF
/c.gﬁ‘& ,ﬁu/ ﬁxﬂ:"’d Uw':ul_?uwc_u: u;xh."_'é_,!d.h.‘:dlrf{q{dl? _u?éf‘f__.o D .l C B <A uk-li..—@kﬁdlrf -y
{24 -fc..lquﬁ;/éfgﬂu:f(;.’_/g4 J’:}s/b ..fmrjbuub’uﬁ(ﬁujf&‘_/& Jok L L..)’Ju:/bvlu;.-f &
Note: you have four choices for each objective type question as A, B, C and D. The choice -U_‘L'r(f)‘;.'ﬂ-‘fm}’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) When James Watson and Francis Crick proposed ?L_«L?.,/UM.:.»J DNA é__f{'/u'jl/".ulufil:/-’- (1

the structure of DNA model?

(A) U* +1950 AD (B) 1953 AD (C) J* 1956 AD (D) U +1959 AD
(2) In artificial selection, the bred animals are known as: R W eI S5 (2)
(A) Breeds i (B) Vector /’-"/: (C) Cultivars _ul;JK @) Herblyere\ﬁmdf

(3) Which one of the following is the abiotic component of thefewosyst,er{l%/ &%Hu;(f.dfrtgiﬁ’ffﬁu'djbn (3)
O

(A) Producers Jygisy . (® Herblv\ore7 1);:3[ 1} Wati;r BL‘ (D) Carnivores s/

(4) Which one of the following bﬁant }ﬁrparasf\e'?‘ \\ ;[-_*fvljjb{_‘vgyfc_dd_'ieu (4)
(A) Pitcher plar J‘_\Hf / _," \ {B) '§undew Fiivg (C) Venus flytrap %}leﬁu'és (D) Cuscuta L‘rg

(5) \[tﬁe\:gom‘plete map of human genome published? "Lvdbr ,M)’{K'p""a_uu! (5)
(A) J #2000 AD (B) (% 2002 AD (C) U= »2004 AD (D) % #2006 AD

(6) Which one of the following is not an addictive drug? ?‘a.uf?'»ulﬁu_fluufc_uﬁgf_jbn (6)
(A) Sedatives i~ (B) Morphine u::/L (C) Codeine qlf (D) Tetracycline u:‘K’ Lz

(7) In aerobic respiration is used. _‘Laﬂdb;luﬁrﬁ'f-/u_{u;f (7)
(A) Nitrogen ¢/ #t (B) Oxygen uﬁ:fT (C) Hydrogen ¢/, (D) Carbon ¢//¥

(8) Which organ is protected by last two ribs in man? ?%?Jf;ﬁlbgfw’jfu):)wudﬁl'gruul (8)
(A) Stomach s (B) Heart Us (C) Liver £ (D) Kidney 5./

(9) Which separates middle ear from the inner ear? E‘.;_.J/G,ef‘uf.;u{&uﬂfuvdw (9)
(A) Oval window (J 5 fs% (B) Malleus =¥ (©) Incus (D) Stapes U~

(10) Babies are born with about _______ soft bones. ,deutﬁ(‘/ - i._r,/”u'ul!u*é_ﬁu;iw (10)
(A) 300 (B) 310 (C) 320 e ] 1 {D) 350

X \
\\\\/»

\;Li;‘.dfw';/uﬂjr@_:uﬁw (11)

(11) Yeast reproduces asexually by:

(A) Binary fission u’b’/% 1I3)fragrm;'f'qtatlc)\u‘...t_w...siﬁ3 {CT Buddlng \.f, (D) Spore formation tisx

(12) Inside testes, where sperms bre; ﬁré&héé@ - Ul (12)
R ?%fﬁr\Jms‘ )Juu o (B) Sperm duct =3¢z
(C) C’olfectmg ducts J‘r: (D) Seminiferous tubules );g:ffj}:‘d:

6(0bj)( T ICIX)-2022(A)-40000  (MULTAN)



PAPER CODE 2022 (A) 7/3 ey
N MBER: 3467 SSC PART-I (1Pth CLASS) ) {

BIOLOGY  GROUP-| \ BT Iy S #71)
TIME ALLOWED: 15 Minute&”, | |7, 1\ \\QBJECTIVE  (§%72e? 215 = =y
MAXIMUM MARKS: lg” | o - 12= AF

o L‘ u“ 2 dwf...wh.mc_u: U s\l v g2 - B Ll D 1 C B oA MRl Ly —d
{4V -rz_t,g;dﬁéf‘;umfz_ﬁ4 J(r_b/h _rm"’w.,mw&u: e § % Sk | LA st i B
Note: you have four choices for each objective type question as A, B, C and D. The choice _‘_{.&.J’fﬁ.:;mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) Which one of the following plant is parasite? ‘.‘la.*}bl/j.-l:;lzufr.uhj_’jau (1)
(A) Pitcher plant .:r‘i}_,ﬁ,_; (B) Sundew ¢3¢s (C) Venus flytrap %/hélﬁu&s (D) Cuscuta Bzg
(2) When was the complete map of human genome published? ?méLﬁJﬁ'M (il 2)
(A) U~ 2000 AD (B) U~ £2002 AD (C) = 2004 AD (D) U~ #2006 AD

{3) Which one of the following is not an addictive drug? *‘r_u":m [£8Y] Ju,g%.pﬁ@u (3)
(A) Sedatives J% 4~ (B) Morphine ¢2A ~C) Codeme’(g[}f\ [ ;I(\/@) 'Ket{a\:yc?rrre w(/ Lig

(4) In aeraobic respiration ______is lised ;/-(;\\ :’ /E) \\\/ " \ B! ‘,,l's i ] gdc_d!'d‘u“’”fu"u’, ;“-J..fua.l (4)
(A) Nitrogen % #t :) ﬁyo@gm q‘ix& V(&) Hydrogen Gk, (D) Carbon g4

(5) Which organ is prole\ﬁd\?y Ia§t twd ntis‘ln man? ?ujdfaitbgfgéfufu_u;’udﬁfd,udl (5)

%E\J (B) Heart s (C) Liver (D) Kidney o/

(6) Which separates middle ear from the inner ear? ?g_éﬁﬁf‘wfcuf Jw:l:'[-j( J,L,w (8)
(A) Oval window (§ 4 r (B) Malleus _=¥' () Incus (D) Stapes Ut~

(7) Babies are born with about ______ soft bones. by LA gica  (7)
(A) 300 (B) 310 (C) 320 (D) 330

(8) Yeast reproduces asexually by: _:.gu',g‘-_g“}nd"/h{ljd}g?.lu: o (8)

(A) Binary fission u”'djfy (B) Fragmentation ;autis i (C) Budding 4 (D) Spore formation ti.s

(9) Inside testes, where sperms are produced? S gt L (9)
(A) Vas deferens 251 (B) Sperm duct /i
(C) Collecting ducts /5 ¥ (D) Seminiferous tubules Az K™

(10) When James Watson and Francis Crick proposed “Ju“.../U;LK.._JLrJ DNA L_J//J‘J/A'QJJ: f (10)

the structure of DNA model?

~EN\
\N I

A) Ut +1950 AD (B) u:,1953 AD\ _(Q)u‘ 19§G Am N " {D)”ui;1959 AD
) o ;Lﬂﬂg_bdbfﬂ/t{fu’b:il;ﬂ:bdf” (11)

{11) In artificial selection, the bred anlmal&a;eknown s
\ O\

) \fedtor /-f: (C) Cultivars .ul:dK (D) Herbivores uud,-

"

(A) Breeds i

'cu

(12) Wh|ch one T‘tlpe }mnd\hing rs‘fhe abnotlc component of the ecosystem? S iz bl | 5k Feddits  (12)

(A )Praducers Iy (B) Herbivores s (C) Water dL (D) Carnivores (6

26(0bj)( T IN)-2022(A)40000  (MULTAN)



2022 (A)
SSC PART-I (10th CLASS)

BIgLOGY GROUP-II
& 145

MAXIMUM MARKS: 48 48
NOTE: Write same ques}lon numbar -q:.bud;_/éfrﬁ’g‘,{ bu/-ﬂ?ul/’dlrgﬁu(éfdb’ s
and J}F\bg“\'lhmber on answer hook, as given in the question paper.
SECTION-l (Jilo

TIME ALLOWED: 1.45 Hours

E‘.

2. Attempt any five parts. 10=2x5 _égfuyliﬁf?lgbc_éf -Z/Jlr
() Whatis double pneumonia? Write the name of its causal bacteria. uﬂ b8y 2Ed i orbt St ()
(ii) Define Lenticels. _u_f.g/J)fu” (i)
(iii)  Write the effects of smoking on teeth. -u:’g.:,l/‘qu?béﬂf (i)
(iv)  What are Hydrophytes plants? Give example. -oJe ?q_ngc_u»gu'vGul’Q (iv)
(v) Write the causes of kidney stone. ufaati:Jd/;;Ju»j {v)
(vi)  Define feedback mechanism. ..u’f_.d/’u*/bucﬂ (vi)
(vii)  What is Hippocampus? Write its importance. -u:"ﬁ-'»:?ftfd' e !u:‘-f:‘ (vii)
(viil)  What is the difference between Rods and Cones? ?.g_J)__U/uf ] (viii)
3. Attempt any five parts. 10=2x5 g felnble 8 340
[0) What is the difference between compact bone and spongy bone? “r_u/qu'“ (dx)w‘tff»u,.v;fr 0]
(i) Define joint and write name of its types. ﬂ(&éﬁ&.ﬂ&gkfk ;ﬂlf (i)
(i)  Define binary fission and give an example. 0 | ;Q%l:‘im&v.u j‘Ju’UfL (iii)
(iv)  Define calyx. ‘ \‘ - [v_,!' ,J/._nt /‘L(Jw/ (iv)

o ey )
UL (Bases) yaleft (i)

(v) What is genotype? Write dbu}n |t§’t§@es \
\ \
(vi)  Write down names of ru er\ h&saé )

(vi)  Defi nehom\?]fagﬁ\(i !c\ &nost»mes _u_’f...éﬂ /‘U ]ij/dg)’ﬁ {vii)
(vii) Define g Sl (viii)
4. Attempt any five parts. 10=2x5 -égfgwélz:égc_df -4/:‘Ulr
() Name the different levels of ecological organization. L s LRSI ()
(i)  What are herbivores? ?ugtﬁw‘_},; (i)
(i)  Define commensalism. Sl i
(iv)  What is meant by ecological pyramid? ?%Jygc_ilfgg}?),h/r (iv)
(v)  Give an example how biotechnology is helping ?.T_G/L‘:’_Lditﬂ%)gffﬁ‘?;lu@!féﬂﬂ-.ﬁ (v)
for better envircnment?
(vi)  Name the breaking enzyme and joining enzyme. -g‘.’?’tﬁfﬂ'fl[&_'Ji./‘;’.’ulr?'ﬁ’LhZ‘_K {vi)
(vii)  What is pharmacology? ‘-'r:_k_fu’.,-fﬂjﬁ (vii)
(viii) Differentiate between broad-spectrum antibiotics and _g.{J}ui'u“";fgL?'lrf%/:’ w1 (}-'-:%l/. (viii)

narrow-spectrum antibiotics.

SECTION-Il (s
NOTE: Attempt any two questions. 18 = 97x 2

/

e eég!kaiﬁuﬂh’»c-cjf -

5.(A) Explain the steps involved in formatlon of urme m J;he kldhe'yks" 2-H2+1 ‘IYJIULQWVH/J: a.ub»u"u»)’ (n_s
‘ "\_f_‘ﬁ/_m‘f A SL LSS st l (O

(B) Explain antagonism in museﬂe act;qn

selecting biceps and triceps ES‘ : xample '

6.(A) Write a det {eq ‘mj; e&h\\Heﬂex “action. 5 &U_Jd"”;f/&f 1% ()
(B) Exp!am\ﬁie,tlrohess of gametes formation in animals. 4 Z: _ata:d/f L& LUy ()
7.(A) Describe any five achievements of genetic engineering. 1%5 _u/uuuuu.;_;/htgdfé_fﬁ_@v (.7
(B) Describe the resistance in bacteria against antibiotics. 4 _J_fuy..:.?y,:_:’..;u»a_u";;w'!uf&ﬁé ()

28-2022(A)-30000 (MULTAN)



PAPER CODE 2022 (A)
NUMBER: 3462 SSC PART-I (10th CLA?S)
OLOGY  GROUP-II

TIME ALLOWED: 15 Minuté*s’

e 15 = oy

MAX]MUMMARI?SIQI\JI WA 12= AF
. END AN Mﬂ’ /b_-vdw’..,.w._ma_.g,: U s vl g Q6% -t L Es D 1 C B A AR Loy -2)
FEIN Y/ -s’u,ydffdfut,m&_); s -Gfaﬁmu,lﬂuﬁgﬁulftfd_):; Sok | LS rmlie gl s

Note: you have four choices for each objective type question as A, B, C and D. The choice -L,[):',J’}fgalﬂr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that qhestlon. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) How many pairs of ribs a human body has? ‘.‘uf‘.}ﬁZf_u,ﬁ;ﬂ()'&Uf (1)
A) 2 (B) 10 {C) 5- (D) 12

(2) Percentage of water in human urine is: -gziﬁ,sé;f&&pﬂ.__,l&;dul (2)
(A) 70% (B) 75% (C) 90% (D) 95%

(3) The smallest bone in human body is: - (;T‘Td ,é’fﬁvwffp duil (3)
(A) Stapes u‘é’" \ .'; p}Tﬂigh bone d;‘fub

(4) Cells of cartilage are called: ' L‘f SR Uﬂfﬁc.g.; < 4
(A) Collagen ¢yaulsS | u'*w;b’ (C) Osteocytes s> (D) Tendon i

2 ==
,\_

Vegetative r(\ﬂaghi\bﬁ@wf in Bryophyllum by:

fe Gﬂ“_‘.x;‘&f ﬁg‘:{ ﬁ_ﬁu: (‘ ble

(3) )
AM\ (B) Stem ¢ (C) Leaves s (D) Seed =&

(6) Whose part is style? ?‘Lﬂﬁf{ J’L’— (6)
(A) Sepal J& (B) Petal ¥ (C) Stamen /<~ (D) Carpel L&

(7) How many hydrogen bonds are present between adenine ?@Lniﬁgu’wz‘ﬂzu)kuﬁ.cﬁélﬁu'cf i34 7)

and thymine?

(A) 2 (B) 3 (C) 4 (D) 5

(8) Allele which is not expressed is called: -‘ctlkf rb’ﬂu.‘.‘f'hflgu’lﬁl (8)
(A) Dominant diiiseys (B) Gene ¥ (C) Recessive 2™ (D) Locus e

(9) Lion is: -q..j (9)
(A) Herbivore us( z (B) Carnivore md/f (C) Omnivore s (D) Decomposer u‘:fo’f

(10) All are carnivore plants except: o v ;W_,Z_;{md:b’w (10)
(A) Sun dew i (B) Pitcher plant ...Irt.g‘/fa (C) Venus f+y tl*a}a .&Jw’g‘ = C (B) Cuscuta L‘rg

(11) When did lan Wilmut produced the sheep Dolly It = = r ?Jy.,f",:"dsia.u)auy (11)

A) U: #1997 AD Y 3 (C) U +2002 AD (D) U #1970 AD
(12) Antibiotics are usﬁr{ tqan!l_ RIS el LS JEH (12)

(B) Bacteria L j/g

(A) \)&us u'}u :

(C) Alga & (D) Protozoan (sishsy

28(0bj)( *)-2022(A)—30000 (MULTAN)



.|PAPER CODE 2022 (A)
SSC PART-lI (10th CLASS)

NUMBER: 3464
OLOGY GROUP-II

’ \Jl‘/‘»: ‘T”/ Goy b

TIME ALLOWED: 15 Minute e 15 =
MR TR TR N o 12= AF

S of t}w %,wdw-é..l;._wma Ui st v E g Q6% - L L D 41 C B oA Mzl Ly -2
YEYR IV -r;@&:ﬁﬂdf;ﬁuzfgfé.ﬂ‘q Sstts Sz fem S SLK | &S tmlie L 2=
Note: you have four choices for each objective type question as A, B, C and D, The choice -q):-d’;ﬁ.-,uv
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
avw)arded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) All are carnivore plants except: _:Llru_?‘_).;'.uu}.r{b/ (1)
(A) Sun dew ¢3¢/ (B) Pitcher plant _*;11;/5- (C) Venus fly trap .74)535;/";: (D) Cuscuta L‘z‘:r
(2) When did lan Wilmut produced the sheep Dolly? s s e b T ()

(A) U~ #1997 AD (B) #1987 AD (C) = +2002 AD (D) X #1970 AD
(3) Antibiotics are used to kill: -U'GYLJW‘-’J—J;LJLI ﬁv‘ﬁ\M}' (3)
m A\ )
(A) Virus b (B) Bacteria | )Q _\/(‘)ﬁolgaxﬁr/\\\ \' ' (m P\mt\ezdan ridhy
(4) How many pairs of ribs a hurgfq body has’? ..7\‘"\‘ 7 w}‘v.\'\/’\;') :\\j h\* W) L “Jg:fafz:uﬂ’ u‘() L (4)
(A) 2 A\ \ A/ 1\0‘ \ \\ “© 5 (D) 12
(5) Percentage of wa N%e}q\mmls - -.;-_A,J»,uégf Gw:.,.t::;éua (5)
(A)?&J (B) 75% (C) 90% (D) 95%
(6) The smallest bone in human body is: _lcugé,{;,/u:KJUs 6)
~ (A) Stapes J,’L' (B) Malleus u’J"" (C) Incus Lff! (D) Thigh bone d},&yu
(7) Cells of cartilage are called: GLWFEL Gl (7)
(A) Collagen audsS (B) Chondrocytes U ~Ls.k§  (C) Osteocytes St (D) Tendon iz
(8) Vegetative propagatioln occur in Bryophyllum by: ?ﬁ-_(:im’_{_ﬂlufw’-‘g';{ s’:':f:uf (fﬁff/. (8)
(A) Root =7 (B) Stem (C) Leaves = Us% (D) Seed =&
(9) Whose part is style? e K S (9)
(A) Sepal ¢~ (B) Petal ¥ (C) Stamen oo (D) Carpel /¢

(10) How many hydrogen bonds are present between adenine ‘,'(J‘{E_niigu’-ujﬂia:u_tfuﬁwﬁéﬁmg."dél (10)

and thymine?

\ /,

\.‘ > f(D’) 5 \
VY ol A
- "l"'((f) Recessive s+ (D) Locus /%

(A) 2 (B) 3

(11) Allele which is not expressed is called:

(A) Dominant &uiivegd

(12) Lionis: “ \II\J' e %< (12)
(A) Hérjhk)o}a PRy (B) Carnivore mg}:iﬁ’ (C) Omnivore (5! (D) Decomposer JJ:;‘/LS}

28(0bj)( ﬁ*)-ZOZZ(A)-SOOOO (MULTAN)



PAPER CODE 2022 (A)
NUMBER: 3466 SSC PART-I L CLASS) b
IOLOGY  GROUP-I AT\

P

TIME ALLOWED: 15 Minute's:-

MAXIMUM Mpfmgs ) NJo 12= AF
/;:.ut P xb_wdwé...rf..mgd. AL sz L g7 -t L L D 4 C B A AR Ly S
EYD | -r(_lgk)i}:?f,’&fu:cwa;I_J:‘; J':Jub _&Jﬁmvlzuﬁgﬂ.wﬂf LJe Sk |\ &S imlie L s

Note: you have four choices for each objective type question as A, B, C and D. The choice -q).’:‘}’}ﬁaﬂlr

s 15 = &y

OBJECTIVE (1w

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 R

(1) How many hydrogen bonds are present between adenine ?ujz_xjj:l'.y’-y,iﬂgu?,,&u)ﬁ‘jﬁ”lufd;:l (1)
and thymine?

(A) 2 (B) 3 (C) 4 (D) 5
et t'nJ’JL,}’Ib/‘fJ)’ @)

(C) Recessive s ¢ ;D)\Loa/us’/g@ ! 4

(2) Allele which is not expressed is called:

(A) Dominant sy (B) Gene ¥
&’*\ /
A\ (o o~
(3) Lionis: A\ (:) /_": \\ \ A AV ," - i @)
\ ”'-. f-\ 'nl "\l l L VR A !

I\{OFE KA‘}.{K \ )(Oj\gm‘r'l’vore mu”l (D) Decomposer u;f 3

\
\
\

—~
— \

(A) Herbivore sz

(4) All are carnivore plants exqegt £ |\ - ;‘rurg_.:iwd;&’.../ 4)

NJ o

(A) %UJF\ Ff\l ,{N

Pncher plant u..flgﬁ

(C) Venus fly trap ?ciélﬁu"-: (D) Cuscuta L'za

(5) When did lan Wilmut produced the sheep Dolly? S when T (5)
(A) U~ #1997 AD (B) -~ ~1987 AD (C) U~ #2002 AD (D) % 1970 AD

(6) Antibiotics are used to kil: gL LA SR e
(A) Virus 71y (B) Bacteria | }-C (C) Alga €1 (D) Protozoan L-,ru':’;{

(7) How many pairs of ribs a human body has? ?w.:,_;zfﬁu,}dufﬁf}ul (7
(A) 2 (B) 10 (C) 5 (D) 12

(8) Percentage of water in human urine is: -c‘_JiﬁAJJgu‘:vL‘{;JUI (8)
(A) 70% (B) 75% (C) 90% (D) 95%

(9) The smallest borie in human body is: -gdiérfcqu-‘ﬁéu' (9)
(A) Stapes u’:’b B) Malleus (C) Incus [ (D) Thigh bone UAJQD

(10) Cells of cartilage are called: ; (10)
(A) Collagen (o< G ;

‘ §;J}¢_J5£Jg%‘-:ﬁf,%¢ Hfe (1)

(A) Root =2 .‘ 2 (C) Leaves < U# (D) Seed . f

(12) Whosg pam‘:g\tglév\_.r‘:‘ e ot S (12)

(A) Sepat 5.

B) Petal ¥

28(0bj)( T T I)-2022(A)-30000

C) Stamen u“i—

(D) Carpel ¥

(MULTAN)



PAPER CODE 2022 (A)

INUMBER: 3468 SSC PART-I (10th CLASS)

&Bi0L0GY GROUP-I

TIME ALLOWED: 15 Minuté;

\ 12= AF
/.c_u? &l{f JJ) mﬁdb&y’?d;@;ﬂ u:/béﬁé.)&irédlr/{{,éfdb’ -u?..d:é.J DsCBA u&'.&.-@k[-dlr/ -&d
{.;{.Jlru’! -rd.lrl-:s,)ﬂ}/‘éfduu‘d’d_z‘:‘; J{J}/b -‘nxﬁb&wuﬁgﬁwf&m Jo¥ L Ln/(.d’u:lbuklc...f -

Note: you have four choices for each objective type question as A, B, C and D. The choice -L(Ld'z;;:.ﬂlr

MAXIMUM MARKSr RN N[\ -

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) Cells of cartilage are called: _ -LELM}Q:E.Q.;UK (N
(A) Collagen ;aulsS (B) Chondrocytes NP 11 (C) Osteocytes Sl (D) Tendon iz

(2) Vegetative propagation occur in Bryophyllum by: ?:‘-anj.mﬁu( u’-‘ggff;uf r‘l.ifl/. @)
(A) Root <% (B) Stem ¢ (C) Leaves <% (D) Seed = §

(3) Whose part is style? o .(f."x, e ”sp,.»wb (3)
(A) Sepal &~ (B) Petal J" O \(c) Stén‘aen’u’e(\ \ .' '\ @)Carpel ¢,r

-~
/,_\ '.

(4) How many hydrogen bonds are present bgmveeh fademhe SR\

Ed*;nxtgfw«}iuy»é&dwtu’d,u 4)

\ N’
.\.._/’
|

and thymine?

(A) 2 \J'ﬁ\\ J ‘\I I\ | ‘\J A= _—B); 3 () 4 D) 5

(5) Allele %hac\ is not expressed is called: -‘Lf-'Uf( :tnuﬁiul"lbfu’-d!l (5)
(A) Dominant i sl (B) Gene ¥ (C) Recessive s~ (D) Locus 1/;’

(6) Lionis: . (6)
(A) Herbivore s}z (B) Camnivore wdu( (C) Omnivore (5 (D) Decomposer m;rdi

(7) All are carnivore plants except: -:é_iru_g‘x_:imdjﬁ,/ (7)
(A) Sun dew #¢r (B) Pitcher plant -1 /5’ (C) Venus fly trap ?{)Jtﬁu"'-’ (D) Cuscuta L‘;;(

(8) When did lan Wilmut produced the sheep Dolly? . ¢ {.l?efr/‘f’:dﬁd'_dug'f (8)
(A) % +1997 AD (B) * -1987 AD (C) U +2002 AD (D) U4 +1970 AD

(9) Antibiotics are used to kill: el Lol A (@)
(A) Virus (71 (B) Bacteria | /“-:‘ (C) Alga i (D) Protozoan u;;f:’:/

(10) How many pairs of ribs a human body has? °Q¢J!££uﬂ“w?dul (10)

\4., A

W G~
7 _‘Lﬁﬁ’w‘j;j&&J?%dul (11)

) 2 ®) 10
(11) Percentage of water in human urme |s

AT (e 0% (D) 95%

(A) 70%
(12) The smallrst bodg u»J hJ#nah body -s' 4-6%3%:-«;}#"&91 (12)
Stabes u"-"" B) Malleus ¥ (C) Incus J"? (D) Thigh bone di‘-(fub

28(0bj)( W T IX)-2022(A)-30000  (MULTAN)
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BOARD OF INTERMEDIATE AND SECONDARY EDUCATION,MULTAN

OBJECTIVE KEY FOR $3C AN“UAL EXAMINATION,2022, ——

Name of Subject; &f&%jvj C)O ﬂ'\) Session: }OJ/}[A) _
Group : 1st , Group: 2nd:f\ /:
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1 // N L184 o NN (o NP //
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18 N AR\T\R=Aa 18
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